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RIEEE N 3.5MPa (35kgficm?)
B8 5[5 I B% &+ (CW)/ 1 §S & (CCW)
EnEE 50 kg 115 kg 270 kg 480 kg
E AR S (K hE) 175 mm 210 mm 240mm 260 mm
HREE @200 mm @340 mm @470 mm @600 mm
HiRE#POA @30 mmH6 @65 mmHG6 @90 mmH6 @110 mmHB6
BERTEb O EE 30 mm 11 mm
EiREMPOLEEA @27 mm @30.5 mm @41 mm @53 mm
B EHD 4-6-8-12-24
BIREE +1"
B|HAWEE(RME)  (sec) +4"
nesst 25 kg-m 57 kg-m 86 kg-m 144 kg-m
B EEE4EWR? 7 kg-m? 21.25 kg-m? 45 kg-m? 125 kg-m?
[iE #§90° /Y [R5 sl 1.7s 2.3s 3.4s 5.4s
F dF (kgf) 1260 1560 3970 6448
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ol £, fem 108 332 1428 1980
B/h FaEE  (N-m) 1060 3250 13990 19400
Pk é f}" {ﬁ::; 55:451 1144253 5535900 3824302
%g 0° E (kg) 120 kg 500 kg 700 kg 1250 kg
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BRIERRD 3.5MPa (35kgf/cm?)
WWEG5a IIg &5 & (CW)/ ¥ I & (CCW)
EmER 50 kg 110 kg 170 kg
[ A B AR @200 mm @250 mm @320 mm
BB UKENE) 285 mm 362 mm 395 mm
EREEHPOA @30 mmH6 @55 mmH6 @65 mmH6
HiEFEPLAEE 35 mm 12 mm 31 mm
R EEHP LTSI @27 mm @30 mm @41 mm
Efuek =) 4-6-8-12-24
SFIRWEE +2"
FIEBE(REE)  (sec) +4"
i = 5319 25 kg-m 37 kg-m 60 kg-m
BB REEWR? 7 kg-m? 10 kg-m? 21.25 kg-m?
hiE$890° /Y 5 1.7s 2.0s 2.3s
Fooreff (an:? 1122;00 113431103 115526000
R (o e 108 208 332
BAH FpLL  (N-m) 1060 3041 3250
ExL TEE (kg-m) 55 122 145
(N-m) 541 1200 1423
%g 0° ﬁ (kg) 95 kg 130 kg 200 kg
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